FA 3.0

= 10-2
(ST
Cas\ 1M o000 - Gooo (0§ 00D
Freiqhlt 2909
r\.ov\ug 3109
L) aye Hooo
l“lulwus\ S0
plu-u.\oiu_\‘ ¥V
s (25 9w0)
|UO 602
Coastvedion
MNu\esia) ko9 voo X TE)s (G (v
Loeboor (A 0000
Ouekerd A0y all bkl 30000
Tusk\l A

20 4




E (0-2Y

TEWNS — FV

qucy‘\.‘cnk P’-p!"-:/

B/s Pvl
201\ S0 O
10 1L Go (O
2913 63 3
201N k (S>
(st =;oﬁ_j9‘" = 23S
Lol 50
2012 47.7Y (2.27)
20013 ys.y (2.27)

2914 N3 (2:25)




= 10 - 23 Nce

Cus\' Dllﬁb C v
d0ll | 00, 089 Yooo 9 (o>
Lol) 109, 000 €, 0o 920

2013 [v0, 40 12, 099 ¥ &0
- 7 o\ 29\ 2913
Acc Dep oo Ml Yo
=3V, v
2“5 ch\ul{o“ ‘70.000 %?OQQ
N 0."' C‘&““‘ Ye WMo Ac.\
Bldy \ 0.000
~J
A Qep® |2 009
OCT - vVevaluehion PRGN
ﬂes ull GIAq €L, 00

\J \
N cc Deyp™ o

VARV & €09




15\3 ﬂeva\uul(o-\ - P/o!pnll\ou.u' ”e\'\w)

CosY Fv
|oo, 0o (02 273
= 1L.09s 12273 T
¢& 000 €% Q0,000 %7
LB 1273
AL\ \Dcwb 17_3
0CT revedluehio 2000
90,000 <
dONM — 201( 55 Yoa|
lo Y 291y 2oll
Del‘\l E7V Mo | Ho9| Yol
ACL V)ev)k‘ \"\1‘:’\ L'ch\ N9\
Net P"\’P =V
Cos\ 90,000 v 273
Bee Dep™ 12,273 2939
17.7127 17,127 75099

Nﬁ-l’ OCT reualvetion 2000
\MJ ;lcéowm 127
R\ A\ | $0°0
Aec e p 2273




P/owo/liowl (022733 qY(sys

29890 2356387
77727 167 7S Lo ‘K

B\léb 3S&Y¥

Acc Dept <Gl

0 CI: / cua‘vuua\.\ 2 N @)

w/»l’té\lw\,‘ 717




E 10-2(

') 8\{‘:’. IS M 0N 7%
Aec Oep= 12V vl
3 M 202
Acc 00\0"," ?uo V30
Bll;g |, oos 4
Lass o rcplau PR IN'w)
Blag 2, Y00, 0
Cus\ 2.SUO Jo9
2 R +W \WEARS)
C <& S 7000
3 “!el +o eSLCmn-lf cost

o o 1 Lxc&‘\'w) S7sl-u~—\

@f\‘ b&&gé (VAN fUcL 2.5 -— 2.S-)§

T, 000 —=2.§= 260,020

Ace Dept 229 00
Q\ L\ 2?0,030

Loss o~ feVJ'ate S(oo

Rl 799, 852

Ckgl\ 79 00



Y

Pa M

oo
o

ash
C

v
Y




£ [0-29

I = P xv >t
= (P x-l') xV
wid avs Q)‘meé ( Pxt)
3(o0,009 > 1v/12 = 3uv9, 0O
G od w3 » 712 = 3%v,00
[ ,Sv9,992 x (/12 = 759,000
[.S U9, 000 AR ~ 250290 _
1515002
Spec; I:\‘c\ Crusbuckiag 3_'?\30 0D
'd CAL ~—
Use Yo oabdvibotab)e o (s e—
(  ¥2¥ ,000 127 — 13 .20
Tf Here wes . ex(edss
(qecere) Lovrowin, were us*é)
J’Le\-\ Ple colhw::) (,a\u\;ka\ L S
ftl& uive )
Y4 x 13, $Lo, 00>
. ¢ M v 1o 2 Lo, 002
S.(M bgo voo
CYO,aoQ - [‘lel‘l?o

S, (00,00




|83, 090 rodoeel lay tavesh Tlcowx
ol 49,900 = 39000

Allocele 00t Yo conpournis

Sevuices
’r()la‘ Bll) w\ao\(- HUAC
Stuchux
3lo,000 30000 O o
(0,099 (pv,00 ' o
| . S69,080 (,1 V9,803 H99, 00
|, <u3,000 EW,000 o 790,30
37!,-0,-3:;; LElooIv 4390 s O 799,30

o0 72939, eV, 17,97,

Bl -sk-vcboe al7y¥
-~ VaaL IRSB\'
Cesvice 237\¢

I\\\—. QY| 13N 0O




P

C S B Sh-
Cost 100,002 120,000  I1M709  |loam
AceDep 50,000 Y000 7100 15000
N R v 110,039 7Y 000 FAYN N € TUO
FMV 9 Lo (9000 910 VO, 1D
c S
1) Cesh 23 Egurp 72090
Nee D SU,000 Ceag\ 23v00
Les§ | R A TV v
e, . LG99 Loss ¢ oo
Eqyuyp
2) Equp 119,09 Equip 1605
ALL ngﬂ S0 00 A cc ey 7\0\)0
= quip lbo w0 E HuLP M0

LFERS fQLOU(’(AI'Ilf a b
T OQ' \Coi velve L
value \ v St
.lc' CU 7 recouewdls Gy
wou ld hinve - Ve




3

c S
Eegupe [1€00] Eqoip 17,099
Ces\ LN Acc Wep TYUO
LNl 80999 Cbslk% o e 1bovoo
E‘bu»vs ,‘0,000 i’ v
Sotwce poind v Cv uS
rccouera\,\.p uwauu"
4 C A
Eqo: Y %S 000 Cesk 93veo
Loss [ ¥u Thv-vsel G200
Nec Dep 0,099 CvGs 130,020
E'tn‘-"\p I‘Qm g&lt} IGSU.SQ
' | Ine New (300

{ N TR




EXERCISE 11-7

(@)

(b)

(©)

2011

2011

2011

$315,000 - $15,000
Straight-line = $30,000/year
10 years

$315,000 — $15,000
Output = $1.25/output unit
240,000 total units

25,500 units X $1.25 = $31,875

$315,000 - $15,000
Working hours = $12.00/hour
25,000 total hours

2,650 hours X $12.00 = $31.800



(d)

(€)

Declining balance 2010: 1/10 X 2 = 20%.

2010: 20% X $315,000 X 8/12 = $42,000

2011: 20% X ($315,000 — $42,000) = $54,600

OR

1% full year (20% X $315,000) = $63,000

2" full year [20% X ($315,000 — $63,000)] = $50,400

2010 Depreciation 8/12 X $63,000 = $42,000

2011 Depreciation 4/12 X $63,000 = $21,000
8/12 X $50,400 = _33,600

$54,600
10+9+8+7+6+5+4+3+
2+1=55
n(n+1) 10 (11)
OR = =55

2 2



Allocated to

Sum-of-the-years’-digits Total 2010 2011
Year 1 10/55 X $300,000* = $54,545 $36,363 $18,182

2 9/55X $300,000 = $49,091 32,727
$36,363 $50,909

2011: $50,909 = (4/12 of 1*' year of machine’s life plus 8/12 of 2"
year of machine’s life).

*Cost of $315,000 less residual value of $15,000






EXERCISE 11-17 (15-20 minutes)

(@)

(b)

()

$2,800,000 + 40 = $70,000

Loss on Disposal of Plant Assets.......... 95,000

Accumulated Depreciation—Building

($190,000 X 20/40) ...ccuueeiiieeeeeeeeeeeeannnnnn, 95,000
Building .......cooiviiiiii e, 190,000

Building — ROOf*.......ccooviiiiici e, 370,000
Cash......oi . 370,000

*Componentized asset capitalized separately from the building
as it is a separate component with an expected different pattern
of benefits and depreciation (expected different useful life and
residual value).

Note: The most appropriate entry (and as required under IFRS)
would be to remove the old roof and record a loss on disposal,
because the cost of old roof is given.

No entry necessary.



EXERCISE 11-17 (Continued)

(d)

(Assume the cost of old roof is removed)
Building ($2,800,000 — $190,000 + $370,000)

Accumulated Depreciation ($70,000 X 20 —
$95,000)

Remaining useful life

Depreciation—2011 ($1,675,000 + 25)

$2,980,000

1,305,000
1,675,000

25 years
$ 67,000






EXERCISE 11-20 (20-25 minutes)

(@) Assuming private company following Canadian private entity
GAAP — Cost Recovery Impairment Model

(1) December 31, 2011
Loss on Impairment ...........cocevvveeennen. 1,800,000

Accumulated Impairment

Losses—Equipment............... 1,800,000

The recovery test indicates that impairment has occurred since the
carrying amount exceeds the undiscounted future net cash flows.
The impairment loss is then calculated as follows:

Cost $9,000,000
Accumulated depreciation 1,000,000
Carrying amount 8,000,000
Fair value 6,200,000
Impairment loss $1,800,000
(2) December 31, 2012
Depreciation Expense.........cccccceennee, 1,550,000

Accumulated Depreciation—

EQUIDMENT oo
quipment 1,550,000



3)

New carrying amount $6,200,000

Useful life 4 years
Depreciation per year $1,550,000

No entry necessary. Recovery of any impairment loss is not
permitted for entities using the cost recovery model for assets
held for use or to be disposed of other than by sale.



EXERCISE 11-20 (Continued)

(b)

(1)

Assuming public company following IFRS — Rational Entity
Impairment Model

The asset’s recoverable amount is $6,350,000 (the higher of its
value in use (i.e. discounted future net cash flows) ($6,350,000)
and its fair value less costs to sell ($6,200,000).

The recovery test indicates that impairment has occurred since
the carrying amount exceeds the recoverable amount. The
impairment loss is then calculated as follows:

Cost $9,000,000
Accumulated depreciation 1,000,000
Carrying amount 8,000,000
Recoverable amount 6,350,000
Impairment loss $1.,650,000

December 31, 2011
Loss on Impairment ...........ccccevveeennee. 1,650,000

Accumulated Impairment

L —Equi | TR
osses—Equipmen 1.650.000



(2)

December 31, 2012

Depreciation Expense........ccccocceeuenn.... 1,587,500
Accumulated Depreciation—
Equipment ......cooveveeieieeeinnnn,
quipment 1,587,500
New carrying amount $6,350,000
Useful life 4 years

Depreciation per year $1,587,500



EXERCISE 11-20 (Continued)

(b) (Continued)

(3) Under IAS 36, the reversal of a previous impairment loss amount
Is limited. The specific asset cannot be increased in value to
more than what its carrying amount would have been, net of
depreciation, if the original impairment loss had never been
recognized.

December 31, 2011 pre-impairment loss

Carrying amouUNt .......ccooiiiiiiiiiineeeecee e $8,000,000
2012 depreciation based on pre-impairment carrying
amount ($8,000,000 + 4 YEAIS) ....ccceeeeererrerrssasasaaanannns 2,000,000

December 31, 2012 pre-impairment carrying amount . $6,000,000

The December 31, 2012 carrying amount would have been
$6,000,000 if the impairment had not occurred; this is the
maximum carrying amount which can be reflected for the
equipment in the December 31, 2012 balance sheet.

Actual December 31, 2011 carrying amount................. $6,350,000
Actual 2012 depreciation (based on impairment) ....(a) _1,587,500
Indicated December 31, 2012 carrying amount............ 4,762,500

December 31, 2012 pre-impairment carrying amount . _6,000,000
Recovery of previously recognized impairment ...... (b) $1,237,500

Thus, the net effect on the 2012 net income (loss) is a net
decrease of $350,000 [ = (a) — (b)]. The asset cannot be restored
to its indicated December 31, 2011 balance of $6,350,000 as this



exceeds the carrying amount that would have existed at this
date had the impairment in 2011 never been recognized.

December 31, 2012

Accumulated Impairment Losses—

EquUIipmMent.....ccooveeieeeeeeieeaa
quip 1,237.500

Recovery of Impairment Loss ... 1,237,500




































